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o=\’
b= 4*
C=90°

d=82°
e =G9°
£ -88°
q=150"
h =20

J =lov’
K=74°
M = |3
Nn=11%°
p=a9
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Not drawn to scale!

(2180
4-(130) =
120’
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(5-2>180= 540°

Not drawn to scale!
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Not drawn to scale!
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ABCD is a rhombus.

D \

W\
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AD = 11

DO =6
oB=_lo
BC=_1)
m<AOD = 90°
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/ One exterior angle of a polygon measures 1C
degrees. What is the measure of each ~
interior angle? How many sides does the
T1=10° polygon have?
- | a_lg_f_) =10
N

\'n: 2, Sldes

The sum of the measures of the interior
angles of a regular polygon is 2340 degrees.
How many sides foes the polygon have?

2340 = (n-2)180
i%f nTz ]n-:\fs side;‘

Jan 6-11:24 AM

How many sides does a regular polygon
have if each exterior angles measures 30
degrees? —

30 _ 55
N

| n=12sidey|

How many sides does a polygon have if the
sum of the measures of the interior angles is

3960 degrees?
290 ={-2D180 \
2202 \ e 24-Sides
T2
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/ Match the description with ALL the terms that fit!
«_E: Bagonals bisect sach othar rm\e'rhmw ,//'gmm’ SL}UQFC
= Sememewmvee o\ Guods.
e Darnanarcnnen 16505 tYop, fatangle, Square
oppoute angas e congent ([0 y (N, (ECYANGIE , ¥ INoMOUS , SQUOIE
Oppoasite Sides are congruent S /

diagonals are perpendicular bisectors of each other r mh ws ) a\nrc
diagonals are perpendicular rhomious, Kite | Sqwc
both disgonals bisect angles rmmms) A V0re
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1) Find xand y. N= 40°
' o

* =10

3) Findaandc. O~ |’

5) Findx. = 38

7y~ =t
2w =T

7.) Three regular polygons meet at point B. Onl
sides does this polygon have?

k2= (-DB0
N

@2 = 180N -BleD
-0 ~1BON

-1B8n = B0

|n=20 sKes|

2.) ‘The perimeter is 266 cm. Find x.

x =30

94 cm

4.) MS is lmidsegmen! Find the perimeter of

meter
=Y i =\00

6.) Find yand z. NE 24CM

TtZ_ a4
t2
7= 08

y four sides of the third polygon are visible. How many

°p°f".13 w2°

o™
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Name:
8.) Find x.
X=12Cvn .
48 cm
9.)
Given: Rhombus DENI, with diagonal DN ’ ,E )
Show: Diagonal DN bisects ZDand /N
Flowchart Proof
D
'V DENris |
| arhombus | o —
‘8‘5@_\3 ﬁfg‘ﬂ_‘ —p—iﬁ A_=A__ | -*;6 £1=22Z |7 BN bisects
St oA %/ s | 3=l4 £ IDE and £ INE
dmmomm cPcre  oefn.of
5,. B = F-N < o\ Hor
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